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Praha – vlastivědná matematika 
 

Vypočítej příklady a do tabulky doplň písmena. Vyjdou ti hesla, která se vztahují k Praze. 

 

1. 

15 16 17 18 19 

          
 

R = (28:4) + (18:2) 

H = (18:3) . (9:3) 

P = (21:7) . (20:4) 

A = (3.3) + (16-8) 

A = (9+13) - (24:8) 

 

2. 

12 13 14 15 16 17 18 19 20 21 22 

                      
 

L = (24:3) +5                          

H = 3. (16:4)                           

S = ( 30:6) .4                           

O = (8.5) –18                          

Í = (21:7) +14                         

Ě = (5.5) – 6 

 

 

A = 2.(28:4)  

N = (21:3)+9  

M = (24:8) . 6  

V = (6.5) - 15  

T = (35:5) . 3 

3. 

11 12 13 14 15 16 17 18 19 20 

                    
 

A = 3+9+2                              

L = 15-7+8 

A = 16-7+9                             

A = 8+7+5                              

E = 14-6+4                             

 

Ř = 4+9-2  

T = 20-6+3  

V = 16-8+7  

V = 11-2+10  

K = 9+7-3    

                           

 

4. 

10 11 12 13 14 15 16 17 18 19 20 

                      
 

R = 7+4                                   

R = 9.2                                     

K = 5.3                                    

S = 2.7                                     

H = 8+9                                   

Ž = 6+7 

 

 

 

 

 

A = 14+5  

P = 5.2  

Ý = 4.4  

A = 2.6  

D = 5.4 
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5. 

41 42 43 44 45 

          
 

J = (5.5) + (91-71) 

O = (73-53) + (7.3) 

R = (5.6) + (4.3) 

L = (80:8) + (45-12) 

O = (56+8) – (4.5) 

 

 

6. 

11 12 13 14 15 16 17 18 19 

                  
 

 

T = (2.5) + (3.3)  

E = (4.3) + (15:3)  

Z = ( 16:2) + (3.2) 

N = (11-8) . (12:2) 

E = (18-8) + (9:3) 

 

 

P = (7+9) – (10.2)  

R = (14-8) . (20:10)  

D = (17-8) + (12-5)  

I = (6.3) – (12:4) 

7. 

8 9 10 11 12 

          
 

D = 7 + (8:2) 

A = 2 . (3.2) 

V = (4.4) : 2 

L = (6:2) . 3 

Á = (7:7) + 9 

 

8. 

13 14 15 16 17 

          
 

R = (20:5) . 4 

T = (2.9) – 3 

E = (3.3) + 5 

M = 5 + (8:1) 

O = (7.4) – 11 

 

9. 

9 10 11 12 13 14 

            
 

Z = (2.10) – 9 

Ě =  8 + (18:3) 

U = (12:2) + 4 

N = 18 – (5:1) 

Y = 4 + (16:2) 

R = (3.6) : 2 

 


